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| PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each |
sentence. Then mark the answer on your answer sheet. |
1- Yuu’d better check out the before deciding whether to go to a nearby college.
1) components 2) foundations 3) reflections 4) alternatives
2-  The workers have still not been -=——-—---- for their loss of wages.
1) perceived 2) established 3) compensated 4) maintained
3- By the age of twenty, she had already fame and wealth. |
1) achieved 2) confined 3) compiled 4) restored
4-  In all parts of the U.S. there is - rainfall except near the rocky mountains.
1) suitable 2) acceptable 3) adequate 4) widespread
5- Health education programs are starting to - people’s eating habits.
1) deviate 2) influence 3) implement 4) fluctuate
6- Witsky’s article describes the authority of a leader’s behavior.
1) dimension - = 2)resolution - 3) conformity 4) consequence
7- The government will examine the advantages of the -—- teaching methods used in
schools.
1) discrete 2) various 3) adjacent 4) incompatible
8- Clouds can be into family groupings according to their height and shape.
1) specified - 2) registered 3) classified ~ 4) distributed
9- I was amazed at Sam’s lack of about singing in public.
1) inhibition 2) simulation 3) manipulation 4) contradiction
10- Freud was very interested in the of people’s dreams. .
1) regulation 2) coordination 3) intervention 4) interpretation

PART B: ammar

Directions: Read the following passage and decide which choice (1), (2), (3), or (4)
best fits each space. Then mark the correct choice on your answer sheet.

A little more than a hundred years ago, a number of European scholars began to record. stories

(11) --=------- told 1n peasant cottages and compile them (12) -----=m-emm- the first great collections of
European folk tales. (13) ----------- evidence exists to prove that the folk tales they recorded existed
long before then, (14) ----------- . Collections of sermons from the 12th to the 15th century show that
medieval preachers knew of some of the same stories (15) -----==---- by the 19th century folklorists.

11- 1) that - 2) were 3) which 4) being

12- 1) for 2) into 3) from 4) within

13- 1) To write 2) Written 3) They wrote 4) Writing

14- 1) yet 2) too 3) though 4) perhaps

15- 1) for being recorded  2) like those 3) as recorded 4) as those recorded
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PART C: Reading Comprehension
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1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

Directions: Read the following passage and answer questions 16-19 by choosing the best choice

Forced to grapple with increasingly ubiquitous and powerful information technolo-

gies, policymakers and leaders in developing countries have over the past few years

been frantically seeking ways and means to shore up the very sparse infrastructure

base in those counties. Wireless networks are.often cited as the most economically

feasible solution to the severe dearth of infrastructure in these nations. For the fore-

seeable futre, the deployment of wireless networks is indeed the optimal solution to

the information infrastructure gap in developing countries. Many developing nations

have embarked on this road and a loose formula of employing fixed cellular networks

for local loops, the proverbial “last mile” in the tqmmunicatiﬁns network systems,

and satellite transmission for long distance and international communications has

emerged.

16- What is the “last mile” of communication networks?
1) fixed cellular networks 2) local loops 3) satellites 4) wireless networks
17- What is the main reason behind the recent attempts on upgrading the communication infrastructure

18-

19-

base in the developing countries?

1) To maintain their countries’ strong and widespread information technologies.
2) To enforce strong information technologies.

3) To avoid the widespread information technologies.

4) To catch up with the widespread and strong information technologies.

Which of the following communication systems are believed to the economically the best solution for

the insufficient infrastructure in the developing countries?

1) Wireless communication networks. 2) Fixed communication networks.

3) Severe dearth of infrastructure. 4) Local loops and satellite transmissions.
What has been emerged for long distance communications in the developing nations?

1) Satellite transmission,
2) Loose formula of employing fixed cellular networks.

3) Both of fixed cellular networks and satellite transmission.
4) Wireless local loop.

Read the following passage and answer questions 20-24 by choosing the best choice (1), (2), (3), or (4).

Then mark the correct choice on your answer sheet.

Many of the sets involved in the generation of languages contain an infinite number of
elements. We must be able to define an infinite set in a manner that allows its members
to be constructed and manipulated. The description of the natural numbers avoided this
by utilizing ellipsis dots (. . .). This seemed reasonable since everyone reading this text
is familiar with the natural numbers and knows what comes after 0, 1, 2, 3. However,
an alien unfamiliar with our base 10 arithmetic system and numeric representations would
have no idea that the symbol 4 is the next element in the sequence.

In the development of a mathematical theory, such as the theory of languages or
automata, the theorems and proofs may utilize only the definitions of the concepts of that
theory. This requires precise definitions of both the objects of the domain and the oper-
ations. A method of definition must be developed that enables our friend the alien, or a

computer that has no intuition, to generate and “understand” the properties of the elements
of a set.
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A recursive definition of a set X specifies a method for constructing the elements -
of the set. The definition utilizes two components: the basis elements and a finite set of
operators. The basis consists of a set of elements that are explicitly designated as members
of X. The operators are used to construct new elements of the set from the previously
defined members. The recursively defined set X consists of all elements that can be
generated from the basis elements by a finite number of applications of the operators.

The key word in the process of recursively defining a set is generate. Clearly, no
process can list the complete set of natural numbers. Any particular number, however,
can be obtained by beginning with zero and constructing an initial sequence of the natural

numbers. This intuitively describes the process of recursively defining the natural num-
bers.

A set can be defined recursively by defining ------ --- operators.

1) basis elements and a finite set of 2) basis element and an infinite set of
3) finite or infinite number of elements and 4) a single element and an infinite number of
There is a process that can ---=-—--- the complete set of natural numbers.

1) list 2) not recursively define 3) generate 4) count

In the theory of automata the theorems and proofs -———- the concepts of the theory.
1) recursively define 2) extend the notions of

3) develop the definitions of 4) make use of the definitions of
L.anguage generation involves --

1) some sets with infinite number of elements 2) infinite number of sets

3) only sets with infinite number of elements 4) only finite sets

An effective representation of an infinite set is obtained by --—--—-.

1) manipulation of its members 2) use of a symbol for each element
3) listing its members 4) a recursive definition

For questions 25-30, for each question choose the best choice (1), (2), (3), or (4) that first
the dots in the sentence. Then mark the correct choice on your answer sheet.

It was her youngest son who ---——-—,

1) was married 2) did marry 3) married 4) got married

Do you think ——--—- sewage into oceans is a serious form of pollusion? -

1) dumped 2) having dumped 3) dumping 4) being dumped

In our own galaxy, there are about 200 million stars, -—-—-—- probably have planets on which life exists.
1) a small fraction in which 2) a small portion of which

3) a small fraction which 4) which a small fraction of

Erosion process but it constantly changes the features on the surface of the earth.

1) being slow ~ 2)isaslow 3) which is a slow 4) although a slow

A metaphore, —---——- poetry, compares two things that are different but have something in common.
1) has uses in 2) useful in 3) often used in 4) enriches the

He is a teacher but he also writes poems at high school.
1) alongside to teach 2) beside teaching 3) as good as teaching  4) across teaching
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